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1. A6 1S FIN AT qCeTt : /32

° Watch Video Solution

2. Ao Y6 FAT BT AETt : 24/49

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dlVlClEPHp1l
https://dl.doubtnut.com/l/_BZ4Qu8paufoY

3. JIoa MeYTHG BNt fBAT It : 4/224

o Watch Video Solution

4, 6 STRYTIS T AT It : /729

o Watch Video Solution

5. A1T6d TG Bat BT IeTt : /1024

o Watch Video Solution

6. N6 TUTHD AT BT It : /872

o Watch Video Solution

7. A6 RYIE ST BT I 2 (/125


https://dl.doubtnut.com/l/_9SxfvdDNM3Ar
https://dl.doubtnut.com/l/_9UBBrlrXd7QA
https://dl.doubtnut.com/l/_OoK7wXQsXpDI
https://dl.doubtnut.com/l/_Kbhgv5nwHGLx
https://dl.doubtnut.com/l/_gV9TUGSxNwVx

° Watch Video Solution

8. NI FeYUTIG Ft fHAt It : /526

° Watch Video Solution

9. NI YIS A fFAt It : 7,/16

° Watch Video Solution

10. FNTE RYTIT ST FAT ICeTT :: 24/59

° Watch Video Solution

11. A6 SRYTIG ST I AT TP SN It : 54/2

° Watch Video Solution



https://dl.doubtnut.com/l/_gV9TUGSxNwVx
https://dl.doubtnut.com/l/_tMbo27WRfq7v
https://dl.doubtnut.com/l/_d72I6FtzlWh9
https://dl.doubtnut.com/l/_oIunlTGaQyxt
https://dl.doubtnut.com/l/_qoOkWEhPWy38
https://dl.doubtnut.com/l/_DdZ2y4RBJHDU

12. A6 UG St ST AT o<t SN It : 7,/3

° Watch Video Solution

13. A6 UG St ST AT Ot FIT It : (/32

° Watch Video Solution

14. 6 SUTHB Tt BIT AT ST SN @ : 24/7

° Watch Video Solution

15. 16 NYUTITT St ST AT o<t SN It : /56

° Watch Video Solution

16. NTTBR SRYTIT S BT AT SO FIT I 2 4/27


https://dl.doubtnut.com/l/_DdZ2y4RBJHDU
https://dl.doubtnut.com/l/_iOIoGvgmxqZv
https://dl.doubtnut.com/l/_yDV9kOJqoivL
https://dl.doubtnut.com/l/_9bABJqNS8uMr
https://dl.doubtnut.com/l/_CQpKdPcsn4wr

° Watch Video Solution

17. A6 STRYTIT Tt FIAT AT SPIPT ST JCeTt : /18

° Watch Video Solution

18. A6 UG St ST AT O HIN Tt : /125

° Watch Video Solution

19. A6 YT St ST AT O S It : /1000

° Watch Video Solution

20. N6 STRYTIT Xt HIAT AT GO ST et : 4/250

° Watch Video Solution



https://dl.doubtnut.com/l/_CQpKdPcsn4wr
https://dl.doubtnut.com/l/_qRSdUbUL2KFA
https://dl.doubtnut.com/l/_iCy2iF083cBH
https://dl.doubtnut.com/l/_joLjWHSmFhnl
https://dl.doubtnut.com/l/_2T2RVuMaSn1H
https://dl.doubtnut.com/l/_6a8iYD02ZTOF

21. 164 ax 57 Sad AT B@I : 11 + /11-99 MK F© (FIst FAE AT 3 ?

° Watch Video Solution

22. AI64 &4T6a Tad AT @l : /12 + /45 9 /12 — /45-93 [TIsTHe

PO ?

° Watch Video Solution

23. 764 4T5d Tad AT F@r: /12 — 4,/3 8 6,/3-93 TS Fo ?

° Watch Video Solution

24. I6q axfoa Sad AT B@t : /7, 24/5, /32-93 (T ISIHeT O ?

° Watch Video Solution



https://dl.doubtnut.com/l/_6a8iYD02ZTOF
https://dl.doubtnut.com/l/_JIhk9vmGQ8M3
https://dl.doubtnut.com/l/_7gHHQviskvhO
https://dl.doubtnut.com/l/_YYGO09JWs0mn

25. 71064 P63 Sad AT D@ : (9 — 2¢/5) — (12 — 7,/5) =?

o Watch Video Solution

26. BICE eafoa Gad Ay CGl]
(VA+ O+ 16+ v25) — (V2 + 3+ VA+5)=?

o Watch Video Solution

27. \164 4154 Gad fAT d@r: /45 — /80 + /180 — /500 = ?

o Watch Video Solution

28. 164 857 Sad AT B@M : /5 932 +/7-97 TLT (B ICST ? 92 (A ?

o Watch Video Solution



https://dl.doubtnut.com/l/_kV5yoIJUOvbo
https://dl.doubtnut.com/l/_imrw17I1r0gQ
https://dl.doubtnut.com/l/_3qtmmlEAr77a
https://dl.doubtnut.com/l/_5BH34ukyz27e

29. AN &PATBT Tad AT &I : (— 5+ /7) 93 (5 — /7)-97 @IHe

QP (— 5 — /2 — /3) RS ST REAISTDT O 2 ?

° Watch Video Solution

30. A4 #4169 Tad AT @I : (5 + /3 + 2+ /7) (@ Do st

BT I (24/5 + 34/3 + 44/2 + 5/7) 7@ ?

° Watch Video Solution

3151 @M : V4 x /16

° Watch Video Solution

32. 57961 ST : /16 x /2

° Watch Video Solution



https://dl.doubtnut.com/l/_k0TLrSr7KuF6
https://dl.doubtnut.com/l/_IWykXy38vH3K
https://dl.doubtnut.com/l/_6iG60bbUBoka
https://dl.doubtnut.com/l/_oUudgcnhSxKs
https://dl.doubtnut.com/l/_cdWzS3rj80AV

/243
V3

33. 57JeT P :

o Watch Video Solution

V1250
V2

34. 5137 BT :

° Watch Video Solution

35. 395 AT IR : (/2 + /3)-@F (2/2 — /3) M STFET |

° Watch Video Solution

36. 39T AT W : (2¢/3 — /2)-@ (2 — /3) T 9T |

° Watch Video Solution

37. 390 AT SE: (3 + /3) (5 — /2)


https://dl.doubtnut.com/l/_cdWzS3rj80AV
https://dl.doubtnut.com/l/_i3ufbBZkDIep
https://dl.doubtnut.com/l/_g0c6aFmvIQQ9
https://dl.doubtnut.com/l/_Jf8JufXvAmZg
https://dl.doubtnut.com/l/_HmhtRm9g4sOQ

° Watch Video Solution

38. 390 AT ST : (/5 — 2) (v/3 — /5)

° Watch Video Solution

39. 39l AR I : (/5 — v/2) (V5 + v/2)

° Watch Video Solution

40. 39wl AT Pl : (11 + /11) (11 — /11)

° Watch Video Solution

5+ 23
7+43

41. 937 T :

° Watch Video Solution



https://dl.doubtnut.com/l/_HmhtRm9g4sOQ
https://dl.doubtnut.com/l/_xWsbreanwUbY
https://dl.doubtnut.com/l/_2I1gfDSUJsfl
https://dl.doubtnut.com/l/_agb5NEZNyzgW
https://dl.doubtnut.com/l/_yhbXSKeL1x9Z

V3 — V2
V3+ 2

42,5731 Sl

° Watch Video Solution

44/3 + 54/2
V48 + /18

43.579¢1 Bl :

° Watch Video Solution

7+3/5 T7T-35

44,531 I :

3+v5  3-+5

° Watch Video Solution

2v/3 -5
24/2 + 34/3

45,5731 Sl :

° Watch Video Solution



https://dl.doubtnut.com/l/_NHmMetJgiGDJ
https://dl.doubtnut.com/l/_FCnwajfHRlB9
https://dl.doubtnut.com/l/_QjKXyEDAScXX
https://dl.doubtnut.com/l/_XJ5uFy7WdaZx

1 3+1 2+1
46.5JcT P : — \/_ + + \/_ +
V24+4/3 2443 3+2V2
o Watch Video Solution
47. et I
1 1 1 1 1

3-vE  VB-vi  Vi-vB B-vB B2

° Watch Video Solution

4++/5

4—+/5
15

4++5

48,591 Il :

° Watch Video Solution

49,591 Wl : /2 = 1.414 A /3 — /6 = ? ( oA WIS FA AAT OO

i)

° Watch Video Solution



https://dl.doubtnut.com/l/_qw93Tw3ZUNaa
https://dl.doubtnut.com/l/_GAcbjLrWPzfu
https://dl.doubtnut.com/l/_kYhmDh13UvPE
https://dl.doubtnut.com/l/_ap3nPPgLvrkC

50. AgeT Il
1 1 1 1 1 1

1+v2  VZ+v3  VB+vE Aty VBB VBt

=7

o Watch Video Solution

A1)+ )
(A )@V

51. 39T BT :

o Watch Video Solution

va(v2+v3)  va(v2- )
52. 5797 I : —

V3(va+1)  v3(v3-1)

° Watch Video Solution

53.5|.'<IFTEI‘>'(?IT:(\/5+\/§)< 33 V5 )l

VE+VZ  VB+42

[ )|



https://dl.doubtnut.com/l/_PjPBBRmrI2p6
https://dl.doubtnut.com/l/_6p6LUlbKbFrs
https://dl.doubtnut.com/l/_bJmxBScvqymc
https://dl.doubtnut.com/l/_hh1MB0onydSp

| Y Watch Video Solution

6 V6 4B
2V3-v6  V3+v2 642

54.513eT BT :

° Watch Video Solution

15 )
55. JcT1 Bl : -a3 g7 A4y @ =7

V10 + /20 + v/40 — /5 — /80
VB = 2.236 93 /10 = 3.126

° Watch Video Solution

2+ /3 N 2 —4/3
VItVE+V3 V2 Vi3

56. 33T B :

° Watch Video Solution

vaz N vaz
Vat+yz—yatz at+Jr+atz

| ° Wiak A \tAAaA CAlLiikiAan

57.3519¢1 Sl :



https://dl.doubtnut.com/l/_hh1MB0onydSp
https://dl.doubtnut.com/l/_tNZzms5UBEGb
https://dl.doubtnut.com/l/_Zwl3kHWTC2YW
https://dl.doubtnut.com/l/_CQ5MNsC9ME95
https://dl.doubtnut.com/l/_NSyR18j8XNax

 § AAK-LASI N IR AL A=Y A®LiYIL ALY IN]

3 1 1-—
\/_m\/ +z+V1-=x

58,519 DI : . =
2 Vitz—1-z

-93 Ji7 Afg @t |

° Watch Video Solution

59. 317 B : \/a2 +2z+/a® — 2% + \/a2 +2:c\/a,2 — x?

° Watch Video Solution

2 1 3
i3 BivE  VBih

60. 5JeY Bl :

o Watch Video Solution

2 1

1
213 VB3 2- B

61. 3dcT I :

o Watch Video Solution



https://dl.doubtnut.com/l/_NSyR18j8XNax
https://dl.doubtnut.com/l/_K99G85EkSEN4
https://dl.doubtnut.com/l/_oHONtKZfMe8N
https://dl.doubtnut.com/l/_LnqKUwFtqXTI
https://dl.doubtnut.com/l/_fZMKB7AmOGyi
https://dl.doubtnut.com/l/_j2lgs1wwzIPo

, 4+ 35
62. N1T61 BT (ATF x 8 y -7 JeTn FiA fAT Bl 4+3v5 =z +y/b

4 —3,/5
° Watch Video Solution
, 54 3v3
63. N1T61 BT (ATF x 8 y -7 JoTn FiA fAT Bl 7+—4:/f; =z +y/3
_|_

° Watch Video Solution

64. Wb ©AY Q@@ x 8 y -7 Fom A [fy I@w

V2+ 43

i2s3 =z — /6

° Watch Video Solution

. ) 3 _
65. NIT6d BT (ATH x 8 y -7 Jein FiF AT Fars +—\/_ =47z + /3y

7—43

° Watch Video Solution



https://dl.doubtnut.com/l/_j2lgs1wwzIPo
https://dl.doubtnut.com/l/_4ZiJrRdhwfg4
https://dl.doubtnut.com/l/_lfHICLK7DfcA
https://dl.doubtnut.com/l/_BulMWFUimx6C

. 44 4/2
66. N6 BT (AP x 8 y -7 Jein FiF A7 Pt ; il :j; =z — /Y
_|_

o Watch Video Solution

. 3-1
67. V164 ©AT (ATH x 3 y 93 o1 Fi~ AT Brars 5/5 = — 93
+

° Watch Video Solution

1
— 3 )
68.qMz =2+ ,3WOWx +—m3 =7

° Watch Video Solution

1
69. T z :3+\/§§.rw$2+; =?

° Watch Video Solution



https://dl.doubtnut.com/l/_vauCMwjCEqxB
https://dl.doubtnut.com/l/_FTNVUmQuxwsW
https://dl.doubtnut.com/l/_4Q8DIK0qGtft
https://dl.doubtnut.com/l/_xhUwsLVLVDu7

\/5_1 2 y2

70.z = AR xy=120T 2 — L =2
V2+1 y T

° Watch Video Solution

7.2 =+5++3, y=+b6— V3T z? + yt=?

° Watch Video Solution

3+1
72.z = v 43R xy=1 20T 3z + bxy + 3y>=?

V3-1

° Watch Video Solution

a6+a4—|—a2—|—1_

?
3

73.qMa = 3 + 2,/2WOQ
a

° Watch Video Solution



https://dl.doubtnut.com/l/_RLSQJPpctlFc
https://dl.doubtnut.com/l/_gmCr6Uz6Azdo
https://dl.doubtnut.com/l/_WV4VggewzkAc
https://dl.doubtnut.com/l/_SFLJRyZuH2fQ

2 2
= ﬁ+\/§ ddR xy-1 20T T Ty ty =

VI ve ?
VT —1+/3 z? — 3zy + y?

74.

° Watch Video Solution

24/15 3 5
75.qfMz = ——— WOW x+\/_+x+\/_
V5 + /3 -3 z—+/5

-9 JI4 0?7

° Watch Video Solution

V3+1 V3—1 x2+y2_?

dRy = o

76. 30z = Y
V3-1 V3+1 z? — g

° Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_Bg5zmJHPqhjQ
https://dl.doubtnut.com/l/_Tvy7Zz5BQiyQ
https://dl.doubtnut.com/l/_YFeejTk5dWbM
https://dl.doubtnut.com/l/_iMBCOuTsIl3c

341 3_1 2 2
78. 9 ¢ = V3 ae V3 wow = 4+ ¥ o

y:
V3—1 V3+1 y T

° Watch Video Solution

1
79.9Mz =7+ 4/3WOR /T + —=?
N

o Watch Video Solution

V3+1

5 e 423 + 222 — 8z + 7=?

80.x =

° Watch Video Solution

2—+5

8l.a = AR b =
2+ /5 2—-45

2+ +/5 )

A a? — b2=?

° Watch Video Solution



https://dl.doubtnut.com/l/_BZL9eIL2CDuI
https://dl.doubtnut.com/l/_4rSuRwdKXUjT
https://dl.doubtnut.com/l/_cJOH3EGblKyb
https://dl.doubtnut.com/l/_laPQ4J1iAfa1

82. Iz = WO z° — 222 — Tx + 5=?

2-/3

o Watch Video Solution

1 3
83.Erfﬁm:1—ﬁ§§r6(a<m——> =?

o Watch Video Solution

84.2 +y=,39Rz—y= ﬂ?@f&cy(mz—i—yz)ﬁ

o Watch Video Solution

1
85.7 = /3 + /22 I8 (3, (x2 + —2> = 102@I
i

° Watch Video Solution



https://dl.doubtnut.com/l/_MbT0WGDU6GKG
https://dl.doubtnut.com/l/_hu5gw5s71EX1
https://dl.doubtnut.com/l/_IL7eWaTmS8O6
https://dl.doubtnut.com/l/_TFQPs80XY7P9

86. 1A fAfT F@1R 4 [ ay by/a/b...... TOIT 9T

° Watch Video Solution

87. 7 AR SIS 3/ 2 3/ y 3/ T 3/ G Py AT

° Watch Video Solution

7 3 2 +zy+y? 12
ss.zrﬁaxzﬂaaexy:wﬂmmwem, vry o _

\/7—\/5 x2 — zy + y? 11

° Watch Video Solution

89. 1/{sqrt(12-sqrt140)}-1/{sqrt(8-sqrt60)}-2/{sqrt(10+sqrt84)}=?

° Watch Video Solution



https://dl.doubtnut.com/l/_0VKfLgWLBK8M
https://dl.doubtnut.com/l/_GHPSIVAmlLzy
https://dl.doubtnut.com/l/_1T9nrfmUzinA
https://dl.doubtnut.com/l/_k58tyYRK8aAu

3 1 1-
0.2 — V3 o= e e

+
2 1+y/1+z 1-1-z

=?

° Watch Video Solution

n+1 T 2 T 2
9.z = (] =?
x n—lQ (m—1)+<az+1)

° Watch Video Solution

92.2 =2+ /32 2® — Tz 4 13z — 2=?

° Watch Video Solution

93.3::24—3%+3%3(Ff:v3—6x2+3m—2=?

° Watch Video Solution



https://dl.doubtnut.com/l/_ycR7JZLi9Ugu
https://dl.doubtnut.com/l/_SbjcVXPzeuCx
https://dl.doubtnut.com/l/_U8qA3P1zyms0
https://dl.doubtnut.com/l/_t2cwGLyuHvqp

Vva+2b+ va—2b
%.x =
va + 2b—+/a — 2b

7T, 0@ 8 @, bx? —azx +b=01

° Watch Video Solution

€2 4 zy +y?

B va+1—4/a—1

Vo Jatita-1d

2y v

o Watch Video Solution

96. /6=7

A. /36
B.y/6 x 0
C.y/6
D. /12

Answer:



https://dl.doubtnut.com/l/_uEGfx0bKDI6p
https://dl.doubtnut.com/l/_xcoq1DKlUV6R
https://dl.doubtnut.com/l/_JopLe5I0q6cC

| ° Watch Video Solution

97.2 + /3 -9 I SITG Dl 2Q?

A2 /3
B.v2+ /3
C.\/2-3
D./3 — 2

Answer:

o Watch Video Solution

1
98.z =.b+2Aqz — —=?
T

A 2,/5

B.4

C.2


https://dl.doubtnut.com/l/_JopLe5I0q6cC
https://dl.doubtnut.com/l/_gdUFHmqvvav1
https://dl.doubtnut.com/l/_3oXdWOOif1lj

D./5

Answer:

° Watch Video Solution

99. /10 x /15=?
A.5,/6
B.6./5
C. /30

D. /25

Answer:

o Watch Video Solution

— 1
100.z + /15 = 43Tz + ;=?


https://dl.doubtnut.com/l/_3oXdWOOif1lj
https://dl.doubtnut.com/l/_9eYeTuGGlKFr
https://dl.doubtnut.com/l/_wtSAhp7DUB2u

A2

B.4

C.8

D.1

Answer:

o Watch Video Solution

D.7

Answer:

| ° Watch Video Solution


https://dl.doubtnut.com/l/_wtSAhp7DUB2u
https://dl.doubtnut.com/l/_mPk7mIuShwic

102. /3 + /5 -93 BATt fApT TRAWD F6?

A3-5
B.3—+/5
Cv3-+vh
D.v/3 + /5

Answer:

° Watch Video Solution

103. /3 — 2¢/2=?

AV2-1
B.v/2+1
C.v3 -2


https://dl.doubtnut.com/l/_mPk7mIuShwic
https://dl.doubtnut.com/l/_9udgyL9Peuvj
https://dl.doubtnut.com/l/_GeIPtTrd6Gtc

D.v/3+ 2

Answer:

° Watch Video Solution

Al

B.3

C.6

D.7

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GeIPtTrd6Gtc
https://dl.doubtnut.com/l/_pPxPI6KFwjfr
https://dl.doubtnut.com/l/_N6HIVdm5yqJl

B.a=2,b= —1

C.a=-2, b=1

Da=b=1
Answer:

o Watch Video Solution

106. /5 + 2,/6=?

A3 — /2
B.v/3 + 2
C.v/5+ 46

D. (BIAIB2 77

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_N6HIVdm5yqJl
https://dl.doubtnut.com/l/_Wifh6m5lFkTa

V21,

107. /2 = 1.4142 31 AR

A.01718

B. 5.8282

C. 04142

D.2.4142

Answer:

° Watch Video Solution

V48 + /32
V2T /18

108
4

A —

3

B.4

C.3


https://dl.doubtnut.com/l/_Wifh6m5lFkTa
https://dl.doubtnut.com/l/_6s9yccGBJnJy
https://dl.doubtnut.com/l/_4wdlOmFGQgWI

Answer:

° Watch Video Solution

0.~ =
N

10

A3+ 22

1
3422

C.3—-22

B

3
D.E—\/ﬁ

Answer:

° Watch Video Solution

110.,/13 — a/10 = /8 + /5 2(eT a=?


https://dl.doubtnut.com/l/_4wdlOmFGQgWI
https://dl.doubtnut.com/l/_tWh7q51QI4b2
https://dl.doubtnut.com/l/_WK2qIpsLUO2c

B.—6

C.—4

D.—2
Answer:

o Watch Video Solution

— - 1
—_— 2 —_— =
Mz =6+ /SR +m2 2=?

A.2,/6
B.2,/5
C.24

D. 20

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WK2qIpsLUO2c
https://dl.doubtnut.com/l/_JeouhxHCapfX

112, JATEIH 999 Bl (\/E)2= |

o Watch Video Solution

113. A7 979 @I : /a x /b=___|

o Watch Video Solution

114. AT 979 BT : /5 + 2-93 FIT fAPTB TRAWD |

o Watch Video Solution

115. X[ATEIF 939 QM : /5 + 2-97 I SIS @It |

o Watch Video Solution



https://dl.doubtnut.com/l/_JeouhxHCapfX
https://dl.doubtnut.com/l/_0qYmhcxbd5k9
https://dl.doubtnut.com/l/_cnGKvESXshC9
https://dl.doubtnut.com/l/_8TaTFCkf4nGY
https://dl.doubtnut.com/l/_oiEvFpyKxBh2

116. I8 439 &M : (1 /a + /b) (va — vb)=_____

o Watch Video Solution

7. YAEH 9789 S ¢ (v/a + vb) (ye — vd) = /ac + vad + /be

o Watch Video Solution

118. TR 79 BRI : TS BITY® LT3 YT

o Watch Video Solution

119. YATEIN 939 BEH : /499516 STRYTT |

o Watch Video Solution



https://dl.doubtnut.com/l/_wdxpi1kN362q
https://dl.doubtnut.com/l/_gxCnmE1A4wpO
https://dl.doubtnut.com/l/_4MSblJ0nvAnE
https://dl.doubtnut.com/l/_O3Q6VLFEx54E

120. XT8N 99T B@I : 2,/79B6  IAT |

o Watch Video Solution

121. AT JRT B@T: /21 9B BIT |

o Watch Video Solution

122, ATEIH 99T WM : /32 (AP /16 [T et 2@

o Watch Video Solution

123. X[ATEIN 939 @1 : 1/5-99 T3 dIN W@

o Watch Video Solution

124. 7 EA G99 W : a + /b = ¢ + +/d W, 0W@a = c 9R b=_



https://dl.doubtnut.com/l/_MTQbMDsAeDCo
https://dl.doubtnut.com/l/_ivX9F9gelrxU
https://dl.doubtnut.com/l/_DlEvhHY4X7W4
https://dl.doubtnut.com/l/_qOet5zxCAsWo
https://dl.doubtnut.com/l/_9IqYvbfD4kjr

° Watch Video Solution

125. X[ATEIF 939 S&M : /5 9BI6 STRYTT

° Watch Video Solution

126. 5707/fIATT fAT BE@I : 7 93 e FeTw YTl

° Watch Video Solution

127. ot/fAAT fAT S@T: 76 Fetw FLUTIT ([@IsTHer aBI6 Fetw e |

° Watch Video Solution

128. 7o/t fAefy St : 8,/6 9516 fat S|

° Watch Video Solution



https://dl.doubtnut.com/l/_9IqYvbfD4kjr
https://dl.doubtnut.com/l/_DS1DdtGdz4wX
https://dl.doubtnut.com/l/_vRab2llkyMdR
https://dl.doubtnut.com/l/_sfB3eN77wuMb
https://dl.doubtnut.com/l/_TeCD3xRHUI5l
https://dl.doubtnut.com/l/_X9MS3fdhlg2m

129. SToT7/fFAT AT Sl : /14 FINT T 6

° Watch Video Solution

130. or/faAT AT S@T: /2 + /79D @B BAT

° Watch Video Solution

131, Stoy/faATt fA9Y Tt : 7o G9m FITNT BIPeT Fom M7 AA gwg

IINTI® 9B 6P wWediBa Aferistt It 23|

° Watch Video Solution

132. >Toy/fst fAfg Bt : /343 > ¥/625

° Watch Video Solution



https://dl.doubtnut.com/l/_X9MS3fdhlg2m
https://dl.doubtnut.com/l/_kJcHjVk6iQ9X
https://dl.doubtnut.com/l/_CF564vmPB7bT
https://dl.doubtnut.com/l/_F1xyTD10qfl1

133. STo7/faATt fAfT B@H : 76 S SIN FGTR (It It st 1l

° Watch Video Solution

134. oT/faAT AT SEI : 5T I IR I fAPTB SATB |

° Watch Video Solution

135. >To1/faATt fAg FET : FIT fRITD SIAWD T2 ST I S|

° Watch Video Solution

136. T8 (X, — 21/7 QBB JAowhifcfos e

° Watch Video Solution

137. GRITS czr,\/l6+ \/{6+ J(6+ ... oo 1E)) )] = 3


https://dl.doubtnut.com/l/_gn16YmuCHL69
https://dl.doubtnut.com/l/_hx6j6W6BMwSy
https://dl.doubtnut.com/l/_EEl2K8XtgUOO
https://dl.doubtnut.com/l/_HEAcHpt7tKAU
https://dl.doubtnut.com/l/_ZYQLEn9tfctH

° Watch Video Solution

138. FAJ S & Mo8s /12, /5, /4

° Watch Video Solution

139. AL WIS HIG88 /7, /5 /2

° Watch Video Solution

3
140. ——-99 3 BN A Bl
V6

o Watch Video Solution

141. 50 916 AT 4B FRI3 o’

o Watch Video Solution



https://dl.doubtnut.com/l/_ZYQLEn9tfctH
https://dl.doubtnut.com/l/_KuSEiToc5AB2
https://dl.doubtnut.com/l/_BcjkWkndTHsm
https://dl.doubtnut.com/l/_Y6FQRmVq3S0i
https://dl.doubtnut.com/l/_iKOSCYG2gKjO

142, 5131 SIS 31/48 — 4+/75 + /192

o Watch Video Solution

143. /ab = /ay/b Jaf6@ a = b= — 1 PWSA AT AT 1 = — 1- BRI

T BT |

o Watch Video Solution

144./85/2 a3 6,/18 99 ITHA $O?

o Watch Video Solution

145. fa=io Tafite gt 333 (a + 1)°

o Watch Video Solution



https://dl.doubtnut.com/l/_4902fLZA6Hhm
https://dl.doubtnut.com/l/_wF4eamuhvCIM
https://dl.doubtnut.com/l/_FX3AQ5zpfhCQ
https://dl.doubtnut.com/l/_NTyMkw6qyYmP

3_

146. A8 T, 222 — = — 5

0fZ9Io STHIBAT ASET e |

o Watch Video Solution

147. 87 3@ (/6 — 1) (13 +2) (2v2 — /3)

o Watch Video Solution

148. W18 @,\/7T — /2 > /5 — /3

o Watch Video Solution

149.a + /b = 02T a 932 b-97 JIH F©?

o Watch Video Solution

150. f S0 4B SEM8a’by/c


https://dl.doubtnut.com/l/_oYCQPDvE55V1
https://dl.doubtnut.com/l/_ihHKBf91hYXZ
https://dl.doubtnut.com/l/_EbFLJ0Cxhkf4
https://dl.doubtnut.com/l/_WM220C9fXqfZ
https://dl.doubtnut.com/l/_wiVEFlkCJoKn

o Watch Video Solution



https://dl.doubtnut.com/l/_wiVEFlkCJoKn

